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~ ~"Q3f -q- 'ffl;:r ~ 'ar' 'if' ~ '~' t I ~ ~ -q- ~ ~ t, fcRff W: m
ct"3W~ 1~~~q;11~q;11~~~~~.1

~~ct~3TCfi"~3Rf-q-~t I

~~ctri1WlTCf)f"3W31f1qI4(1: ~~~~ I

This question paper has three Sections 'A', 'B' and 'C'. Every section has
four questions, attempt any six questions. At least two questions should be
from every section.

The maximum marks of every question are mentioned at the end of the
question.

The parts of same question must be answered together.

Section- A

1. (31) ~ OllCi fI III ~ ~ 'FIT t" ?

0f) ,~ M@iCf)'"Iw:w:r~.3' qfr ~ ~ Cf)f~ ~ I

0) 'mfu-~~' ~ '~-ar:r"ffiID' qfr ~ Pq~t'4(1IQ fll1$iI~Q I

SYz

6

6

(a) What is Going Concern Concept?

(b) Explain main points of "Indian Accounting Standard-3".

(c) Discuss the main characteristics of' Receipts and Payment Account' and 'Income

and Expenditure Account' .
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2. (31) '31' '~' ~ '~' CfiT 3lrf~:rcf;-fir~ f-18f~Psklt:
anf?lCn~ 31 ~, 2012

'"

10

~ "fffu f R '" "fffu f'AA4 T1<:il
,

~ 20,000 ~ 6,000

~~ 15,000 ~ 20,000

ipft~ : (f) ~ 20,000

'31' 25,000 ~ 20,000

'~' 15,000 40,000 '~' CfiT ipft~ I 9,000

75,000 75,000

1-4-12 q;)- '~' f~cllfw.1Im- 1WT ~ ~ ~ ~ ~ f 2,000 ~ ~ I
'81$1~Hl cf;- ~ CfiT ~ ~ 1WT I w-qff141 ~ ~ ~ ~ sf - ~ f 14,500,

~ - f 16,000, ~ f 14,000 Iww:R ~ f 2,500 g3lT I

TTffi- GRT11 -qt CfiT f.:p:p:rffi1l Cfi"ffl ~ ~ qft ~ -It ~~, '81$1~I~1cf;- ipft~ ~
~~~~I

01) CfilIFft ~ cf;- ~ ~ CfilIFft cf;- ~ ~ cf;- iftt ~ CfiT 1JfIT ~ I 7'l2

(a) The Balance Sheet of' A', 'B' and 'C' is as under:

Balance Sheet as on 31st March, 2012

Amount Amount
Liabilities Assets

f f

Creditors 20,000 Cash 6,000

General Reserve 15,000 Debtors 20,000

Capital Alc. : (f) Stock 20,000

A 25,000 Machinery 20,000

B 15,000 40,000 C's Capital Alc. 9,000

75,000 75,000

On 1-4-12 'C' became insolvent and a sum of f 2,000 were realized only from
his assets. It is decided to dissolve the partnership. The assets were realized as
follows: Debtors f 14,500, Stock f 16,000, Machinery f 14,000. The liquidation
expenses were f 2,500.

Prepare Realisation Account, Partner's Capital Account and Cash Account in the
books of the firm by applying the rules of Gamers Vs. Murray.
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(b) Give specimen of a company's Balance Sheet in vertical form according to the

Companies Act.

3. (31) ~ fu-. # < 6,00,000 cit ~ ifIT fClf-i41f\i10t I ~ ffi'l1 ~ W ~ c);-~:
< 65,000, < 70,000, < 75,000 ~ < 80,000 t I ~ 3lmT cit \i'fTffi t fcp cnPFit ~
~ CfiT ~ W~~~ r@lft I 5% m~ ~W~ c);-~~< cit
~ CfiT~ ~ < 2.82012 t I !'I64I~lo ~ 3lp:f 11% m~ t I ~ fort4
~ "&llfu c);-~ cit TTURT~ I 6

0f) '"tffil' 3iqf~f@o q;8 cit '~ lm1 ~, ~ t ?~ ~ ~ ~ ~ ~ WPR

~t? 6

0) ¥ wqfu ~ fort4rnr ~ CfiT1~iCfi'1 q;8 c);-~ ~ ~ ~ \i'fTffi t ? SYl

(a) Average capital employed in Sushil Ltd. is < 6,00,000. Its profits for the first four

years are < 65,000, < 70,000, < 75,000 and < 80,000 respectively. It is expected

that the company will maintain its super profits in next four years also. The

present value of an annuity of one rupee at 5% p.a. for 4 years is < 2.82012. Fair

Return is expected to be 11% p.a. Calculate the value of goodwill according to

annuity method.

(b) What is written down value method of providing for depreciation? How does it

differ from the fixed installment method?

(c) What procedure is followed in the valuation of shares while using net assets

value method ?

4. (31) 3iH1RCfi ~ 0'lIT 3iH1RCfi ~ # ~ 3RV t ? 6

0f) !'Iq I0 ICf)l cit \1iTq ~ ~ 3lf!l fq;;r ~ CfiT 'I:ZIR # ~ ? 6

~ Cfi14~q ~ t ? SY20)

(a) What is the difference between Internal Check and Internal Audit?

(b) What points would you keep in mind while vouching?

(c) What is Audit Programme?
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Section -B

5. (:31) ~c))'~~~'~3lTll~~~?

0f) ~ c))~ c))~ mwr ~ -;;n;t~ mc));nll ~ I

rD fll~G:Rl ~ CfiT fl4$lW~ I

6

6

(a) What do you mean by 'Separate Legal Existence' of company?

(b) Enumerate the documents that are required to be submitted for registration of a

company.

(c) Explain partnership deed.

6. (:31) ~ fll~G:I{ll:fi1t 3fu" ~ ~ 1:Jftcm" OI4qfll4 1l 3RV ~ I 6

0f) 11T«f1l fcIm CXWlR Cfft ~ ~~f11ll1 q;r ~ ~ I 6

rD ~ fcMfCk1Cf){OIq;r ~ ~ ~ ? 5Y2

(a) State the difference between Partnership firm and Joint Hindu family business.

(b) Write the main trends of foreign trade in India.

(c) What is objective of Market Segmentation?

7. (31) ~ dG:R1Cf){OI~ ~ ~ ~? 6

0f) ~~q;r~fl4$lW~ I 6

rD 3lfT.:f ~ 1l ~ 3fu" 3ililIRCf) ~ q;r croH ~ I 5Y2

(a) What is meant by economic liberalisation ?

(b) Explain the importance of Life Insurance.

(c) Discuss the physical and moral hazards in fire insurance.
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8. (31) ~rnr~~~~~1 5~

~ ~ 'y' fflQ);H1q;l flq~I~~ I 6oo
rD '3ill~1~h11fi~,\,lql(H' ~ cp:rr~ t ? 6

(a) State the main characteristics of management by objectives.

(b) Explain 'y' theory of motivation.

(c) What is meant by 'Grapevine Communication' ?

Section - C

Cf)W{G~fcmR Cf)l ~ 'flR

Basic Knowledge of Computer Science

9. (31) x~1lR~Wm:f"i1<if~f{9(1 q;l~~:

(i) (325.25)10 = (x)g

(ii) (11101.11h = (x)16

0f) ~fmm"sf~~;fiOII\qCf)~31Tq;l~~~~t?

rD f"i1<if~f{9(1"sf~ f.:r<ffi ~ ~ Rrm (~ ~ CfiTqlnCf){OI~ I

(1~ + 1~ = 3)

2

2

(i) l1m1 (v) ~

(ii) ftR:\ (vi) ~

(iii) ~t.1 (vii) ~

(iv) ~ (viii) cq~

~ 3llq{ftll fmmcp:rrt? ~~~ q~1\lH 3llq{fbl fmm"sfcp:rr ~t? 3

0f) Cf)W{co{~C:qFctill~BJ'q CfiTC!UR ~ I 3

~ m-~lUlfilll"sf~~SRT~~~~~~~~~"sflW1TCfiWt I 2
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(a) Solve the following for x:

(i) (325.25»)0 = (X)g

(ii) (l110l.llh=(x»)6

(b) How the +ve and -ve numbers are represented in Binary system ?

(c) Classify the following devices as input and output:

(i) Mouse (v) Plotter

(ii) Printer (vi) Keyboard

(iii) Light pen (vii) Speaker

(iv) Scanner (viii) Touch pad

(d) What is an operating system ? Differentiate between single user and multiuser

operating system.

(e) Explain the advantages of computer networking.

(f) Name the basic data types used in C programming. Also write their size, that

they occupy in memory.

~I

0f) Q:qc.rh~qlF'1.q ~ ~ ~ ctr d<;I~{OI~ ~ ~ I

rD ~ (l%-~m"QCf '5llltS!f! ~ CfiT ~ cR I

(1 + 2 + 2 = 5)

5

5

(a) What is an Internet? Write any four applications of Internet and differentiate

between internet and intranet.

(b) Explain the marquee tag in HTML with example.

(c) Define data redundancy and database integrity.
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11. (31) ~ # '114('11~\T:S '(mfUl4l CfiT-w:Wrcp.if fcf;<:rr\7ffi'ITt? INF, 2NF C'Im 3NF ~mfUllll ~

lJUlTem~ I 5

0f) ~cp:rrt? l'Ilwfilll ~ 'm' #-w:Wr~m~~~CfiT~Cf)f I ~

CfiT-w:Wr~~~~~~,mCfiT<Wr1W{fCfi8~~~ I (1 + 1+3=5)

5

(a) Why normalized tables are used in database? Write property of tables in INF,

2NF and 3NF.

(b) What is a function ? Mention type of functions used in programming language

'C'. Write a program to find the sum of any two integer numbers using function.

(c) Write basic structure of an HTML program and explain it.

12. (31) ~CFl~(SQL)CfiTquH~~~~ I 5

mwfitll ~ 'm' #~~rt 3 x 3 ~Cfft~em ~i'8ql'J1Cfi8CfiT~~ I 50f)

0) ~cp:rrt?~quH~ I 2~

SQL ~ SELECT ~~~ ~ em fC1@Ch,(W",$'II~Q I 2Yz~

(a) Give the description ofSQL along with its part.

(b) Write a program in programming language 'C' to transpose any given matrix of

order 3 x 3.

(c) What is Te1net? Explain it.

(d) Write the simple form ofthe SELECT statement ofSQL and explain it.
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